| N of reco track vs normalized x2 | | N of associated (recoToSim) tracks vs normalized x? N of associated (recoTosim) looper tracks vs normalized X

9] F 1%} F 123 0
x x o x x
Q Q o (5]
g g g g
= © ) ©
E 8 g
=
E 10°F 3
10°F
3 10°F
o +f <} =} TTFTTFITIT T )
3 3 T TR TEE T IS
@ @ 24 | | | | i % @
16 18 20 “9=2 4 6 8 10 12 14 16 18 20 092 4 6 8 10 12 14 16 18 20

track x2 track x2 track x?

reco track vs. 4 M n@ﬂeﬁfess orser

2] 1%} 2] 0
x < x X
& g g 8
£ = 10°F = £
p 2 10 8
=3 X =
£ 8 8
10%e s
=3
o

10°k
o o [} )
K IW1.M1~1~!+1MW}H‘HHHHHHI 3 ] 3
24 .‘1111H111ll11111111‘1l111111111JHHHHMHHHHJHH ox @ @

0= g
s, g




	Contents
	Page 1


